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Question No. 24

Let a € ( 2, U, Solve the mequality |24
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Question No, 4



Question No. 30

The supplement ofthe angle 20° js-

70°
80°
180
160°
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| The solution of the equation 2% = 32x-1 jg
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2ln3-In2
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Question No. 4
The supplement ofthe angle 45  is:

45°
60
80
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Question No. 31

Which of the following functions is one-to-one

F={(-3.-3).(0,0), (4.-2), (1,-5)}
F={(3.9), (6,0), (3,-2). (1,-5)}
F={(4.-3). (1,0), (5.-2), (1,-3))
F={(-3-2), (0,4), (3.-2), (1,-5)}
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I function /(%) has an imverse function and /(- 2) ~ 11, then
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Question No. 37

Let a > 1. The solution set of the equation log_(2z*
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Question No. 13

Let a,b € R. Give the values of ¢ and b that make this statement true:

2b+ (32— V2)i =b— 2+ (a + V8)i

a=2=2and b= —2
4] -3v2 and b = -9

" 5
@ =dv2and bh =2

(1 “l—‘: and b = -2
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|
' Question No. 18

Which of the following points are on the graph of f(x) =4 + 2 Jog, (1 -~ 2x)

¥ (0,4), (<1,6) and (1,~2)
2 (3,1), (1.0) and ({,-1)
¥ (0.4), (<1,6) and (1,2)
¥ (0,6), (~1,4) and (1,2)
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Question No. 24

Let a € U], Solve the mequality |24
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Question No. 4

Assume that » J 4+ M an i 144 2. Find the value of « n the | na-+t vher
u 2 2
u 50 — S
u ) )

w 50 4 Hiu
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Question No. 7
The expression (1 cot?0) equals

9 cos?0
Y goc?0
“ gin’0

csc’0
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Question No. 40

The solution set of the equation log. (x + 2) + logs(x —2) =1is

{-3}
{3)
{-3.3)




Q e, e iliks G
i Bk i it 4 I
T A I i

: ‘,ﬂlﬂf(l =ﬂ'o_y-'—:-+qn‘-—|_¢_ Give the condition o-usnchthtf(;’i '-M g

®ac(,2 .
01‘ 2 € (—oo, 1] U [2,00)

i';iIJl'i-:‘ il
‘!'Nhauf; QUL

Tolal questions in exam: 40 | Answered: 36

Question No. 27

If a+1 is a positive real number such that 5% = a then x =
Ins
Ina
a
In( e )

Ina
Ins
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1 Question No. 18

The solution set of the equation —1 + logg(3z +2) = —Z is
* {5}
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Question No. 12

4 5 -
i X 424X -1
tvaluate hm »
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Question No. 27

The range of the function f(z) =1 - 37; is
“ R\ {0}
’ R\ {3}
R\ {1}
® R\{-2)
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Question No. 26

Lot a -Il.m.lfl.-‘. (a? Dx? 4 r=a. Give the vl of a such th

at [( T) s a one-to-one function

a4=1
¥ 203

a

a |
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Question No. 37

It /(x) s a polynomial such that £(2) = 3 then the remainder of the division
f(x) = (x—2) equals:

@2
@2 ,
©3 3
,0-3
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Question No. 36

| The function ffx) is constant on an interval 7 if for x,, x, € 1,

Y ifx, < X, thenf(x,) < f(x,),
© ifx; # x,, then f(x,) = f(x),
i < thenf(x) > f(xy),
i > x; then f(x,) > f(xy),
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Question No. 40

The graph of f(x) = —*(;;-)x is

© Increasing

© Constant

U Decreasing

() Decreasing and Increasing
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Question No. 39

‘ The supplement of the angle 507 | st
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Question No. 39

Use set notation, and write the elements belonging to the set
{x|x 1s a natural number less than 3



Question No. 8

: AT
Evaluate 1}“‘.

X

..J‘.J




| Iff(l)’--%!“,thedonninoff_'(x) is

1 [_391)
Q 1

= [0,x)
* all real numbers
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Question NoO. 23

Simplity 3(!4_2“' - Z-n - 27)
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Question No. 22

Let a € R, Give the condition on a that makes the e

1€ {—1,-2,1,2.3)
& R\{1,3}

R

R\{—1.2 21
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. Question No. 29
‘I If f(x) isa polynomial such that the remainder of the division f(x)+ (x+4)

equals 10 then
|9 £(10)=-— 4
O f-4=10

© f4)=10
f(10) = 4













| Which of the following functions 15 not one-to-one

9 fw=y

O fmy=Ax
) [0 =-x
it f(x)=-%
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 Question No. 30

|
| Solve1<7——x< 10

| @ (:6,3)
L0 (36)
@ (-6.3)
W (36)
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Question No. 23

Evaluate: |—12+ (5 —2)|

@9
n'_x 6
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" Question No. 28

;
called

l.| qf 0w 90" then 0 s
|

?ius anguﬂuau;uuﬂu
B a stragh angle
O A tight angle

O an acule angle
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‘ Question No. 39
‘ The supplement of the angle 507 s
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Question No. 34
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Question No. 4

What are the factors of this quadratic equation?8x*

(4x — 5)(2x+ 1)
(8x+5)(x—1)
(4 — 1)(2x+ 5)
(x+1)(8x—5)

bx

N
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Question No. 11

OF

If sin® ‘ then cotf = where 0°<3-



















Question No 26

The inverse of F = {( -3.3), (0 0), (4 2),(1,5)}1s

@ G={(-3,-3),(0,0), (4,-2), (1.-5)}
® G- {(3,3), (0,0), (-4,2), (-1,9) }
@ G ={(3,3),(0,0), (24), (1.5)}

@ G=((3-3),(0,0), (2,4), (5.1)}




Question No. 34
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Question No. 33

| If f(x)=x3+2x2—1 then f(a*)=







- _z)(5+t)
© 2 +D(5+D
O (xz +z)(5__t)
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R Questton No 23
hat f(2a) =7

| Let flz)=— 2z +4, find the value of a such t

@ a=0.
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| d&ggﬂpp No.7 ©
The degree of the polynomial 5x*+3x —5218
@5
@ 3

@ 2
® 52




Question No. 5

The horizontal
O y-= 2
X=-2

asymptote to the graph of f(x

) =3*"*+2.
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Question No. 3

et

The solution set of —2<3-5x<18 1s

! ® (-—Cﬂ,l)
| @ (—3,%)
g (_‘3n1)
- [d3»l]
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Question No. 9 ¢
| If f(x) is apolynomial such that f(5) = — 7 thenthe remainder of the

fx)+ (x—5) equals:







Question No. 28
Given that ()

@ 1

loga(x + 2), then [(2)



o .? = ' ¥ s
Use the square root property 10 solve this quadntic equation
x2+20=4
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Question No. 1

The solution of the equation In(3x) = 2 is
2

e3
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mtion No. 1;

| Which of the following is a pair of inverse functions?
|
|

@ f(r)=2r—1, wherez € R, and g(z) =z + 3, wherez €R.

® f(z) = V3+z, where x € [-3,00), and g(z) = z* — 3, where z € [0, 00).
@ f(z) =z, where z € R, and g(z) = —z, where z € R.

9 f(z) = V3+ <z, where € [-3,00), and g(z) = 2* + 3, where z € [0, 00).
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5 © the set of real numbers




| Question No.24

If x-2 is a factor of the polynomial f(x) then

© f(-2)=0
® f(2)=0
(™ = 2
O f(0)=2
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Question No. §

Let f be the one-to-one finction \'.;'f&ﬂi\”‘f\ this set of ordered pairs {(-3 Y. (4.5).(7.4)(10.19

Then f~'(5)

-







Question No. 18 O,

| The function has an inverse f

@ None of these answers

@ doesn't satisty the horizontal ine test
' © itis one-to-one

© it is quadratic

C




; oo
® 2
@1
© Does not exist

i
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Let U= {0,1,2,3,4, 8,6, 101, and A= (1,3, 51 ihe complement of A 1

@ (1,3,57)
| @ {0,2,4,6,9)

*0
@ (1,2,3,4,5,6,7)
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Question No. 1

Perform the indicated operations a b(

b
-
b
0
a

|
B e

|
o

a~! —b1) ,where a 20 b£0
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Question No. 8

Let U {1.2.5.4.5.6,7}.}\ -{1,3.5,7}

_and B={3.4.6}. Find AU B’
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135 of 202

Quesuon nv. &«

Vx -5
The inverseof f(x) - ‘/‘-,

1S

@ f(x)=(2x+5)
[(x) :(.!.\ +5)
f(x)=3(2x+95)

' (x)=(2x4 5y’
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Question No. 1

' Factoring x* — 8y? gives



Question No. 33

The function f(x)z{:x_k if x23

is continuous if

if x<3
® ;.
k=3
A
S
k=1
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Qunuon No, 18

The functioy, /(1)

ex* 4 4y 4 l is “Quivalent 4,
“I(x) o(x ~ 1)2 1
/(x) 2(x 1)? 4 3
I(x) « )24 3
f(x)

2(x 4 1)
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Question No. 1

Factoring x3 — 8)}3 gives
(x - 2y)(x? + 2xy + 4y?)
(x + 2y)(x? — 2xy + 4y?)

e b Z_V)(Xz L 2.&";! -+ _\rz)

.1'3 — 8y3
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qQuestion No. 2

If r € N, then the value of A=






Question No. 6

.~ Evaluate lim (x’ +x- 3):




